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b x Bk, g'(x), g(x) B LtE LR

x (=2,0) | 0 | (0,3-+3) | 3-8 | 3=+3,3+3) | 3+3 | (3++/3,+0)
g'(x) | + 0 | — 0 + 0 -

2(x) | HEY B/ME | 2 A Y
x| (0,000 (0,3-v3)3=v3 3=+3,3+VB+T 3++/3,+
g'(x) + 0| — 0 + 0 —

| 7 N ﬂéd\/ 1‘&7'(\
g
B "

s BT/, g(x) MEEEMIX AN (~0,0), (3-+3,3+3);

FIRIBIRIX A (0,3—+/3) s (B++/3,+0) .
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(1D 3R f(x) BIRRAR SN2
Bt g(x)=f'(x) B SF 5.
DTE (—o0,0) I '(x) s, £'(0)=1>0, f'(-1)=—4e’+1<0,
[RlIHAE (—00,0) | f'(x) A HNA 1M ESFH,
Rk f(x) B AU —AMRME -

B R T T

=Y

@1 (0,3—~/3) f(x) ®BiEEK, £'(0)=1>0, 1€(0,3-3),
Hf'(l)==2+1=-1<0,

HITE (0,3—~/3) F £'(x) B BAUE A2 %8,
i £ (x) 5 HAUE — A

=Y



@E (3-+/3,3++/3) | f(x) HimisY,

2(3-3)<g(1)<0, B '3-3)<0,

%3e(0,3-3)H £'(3)=1>0,

FIAE (3—+/3,3+3) L/ '(x) B BAUE A S Es,

I £ (x) A BAE —AMRAME

@FE (3++3,+0) L £(x) BB,

“x>30, g(x)=1+e™(x’ -3x)=1+x*¢""(x-3)>0,

B £'(x) >0, (3-+3,3+3) F f'(x) REEESE Y

Rt f (o) B R AL AN AME

v EAE,  f(x) B AR ERTEAAME, B f(x) & 3 MRS,
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1. (D RXTERAZERFE, vJaess 28, EEREBeRIFMIEE AT,
WX A, A R — A B BORASKATRE T o 45 230 X A5
R, X R HORON SR U B S R BOR 3288, AR
2. (2) KgAK A2 SRR EENA, R EfR S, $
X e B EEEES T .

3. (3) MERMERKIANEE (2) ZEMHIE, 4 (2) KA EFE1TH),
T ELAS R P75 T oR BB E A, MEFEASK, PR IR s #2 AE 5 ek
FEEB AR 3 /TR, mRFLEMBXE, ERTTE R FHX
REIXTE] DB T 0, MEREHARK.

21. AR 15 73)

%51{a,}, {b,} RN mIiAEHES, HVa, b ell2, -, m},
ie{l,2,-,m}. iC A4,, B,5HA%5{a,}, {b,} K50 5A, H
Ay =B, =0. 5icr, =max{i|B < 4,k €{0,1,---,m}}.

() Ba=2, =1, aa=3; b=1; b=3: 5=3: Ex:
he 1 I HIME;

() Ha,2b, B2r<r_,+r, » Xr,;

(1D E#: FHEOSp<g<m, 0<r<s<m, f§1§

A +B =4 +8,.
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Al El E A e, = max{i‘ B <A ke {0,1,---,m}} , JeXTEEPZH.

BANET n A, F75 261 AR,
(l) ﬁ”i%ﬁu—l:? Xﬁttm‘%ﬂfb=0: ri=1! ?‘2=2, r3:3u

I 0 I 2 3

a. 2 1 3

(II) FHa,2b, B2n<r ,+r, » XKr,;

n

A, =B, =0, a#r=0;

NAa >2b, Bl 4 =a2B=>b, Hiktrn=1, WHr-—r=>1,

X2k <Lr_ +r,, , AJffr —

- F +] i

LSk —8 LS8 —1 &F

| i—1 i+]

_";_,

Wry =1y =Ty +1,

n:.'l

v, ,+-+r—r2l+l+---+1=m,

X1, =max {i| B, < 4,k €{0,1,--,m}}, H{B}IH n i

i /o= s = - =
Wr =m, 8 r,, —r=r—r_=-=r—-r=1, llr=n.

i+l

(D WkEBH: FEO0Sp<g<m, 0<s<t<m,

i3 4,+B =4 +B,.

%if: A +B =A +B,, Wif: 4 -4 =B —B,.

B =A , W p=s=0, g=t=m {7
4B, #*A,, Ni%B,>A4,, W <m(k=0,1,2,---,m),
ROEAk—Bk<m:

G0l A, B, ., = A B, —b_,2m—b,_, 20, &5, i LT

LER A4 - B, "y THEm+1 172, HAERBMNm MR EE,
R, AR, RN RN pg(p < q).
[T kT k By, Wr <r .

X*%AP<ALI, ﬁrp<rq.

iES=rp, t=r,,
ﬁAP—BSZAq—BI,

Bl 4,+B =4 +B,.
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